Week 11
Wednesday 3rd June 2020
Year 6- Problem solving
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Add and Subfract Integers

Add and Subtract Integers

Ta. The answer fo an addition calculation
using two 5-digit numbers is 65,871.

What could the calculation be?
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Tb. The answer fo a sublraction
calculation using two 5-digit numbers is
37.824.

What could the calculation be?
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2a. Use the numbers below fo fillin fhe
blanks so the calculations are correct.

2b. Use the numbers below fo fillin the
blanks so the calculations are comrect.
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3a. Michael chooses a number between
10,000 and 15,000. He adds 23,154, His
answeris 33,904

My starling number
% is 10,650,

3b. Jonathan chooses a number between
25,000 and 30,000. He sublracts 10,124,
His answer is 15,483,

S

Is Michael correct? Explain your answer.
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My starfing number
s 25,607.

Is Jonathan corect? Explain your answer.
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Add and Subtract Integers

4a. The answer fo an addifion calculation
using two &.-digit numbers is 456,782.

For one of the numbers, the thousands
digitis even.

What could the calculation be?
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4b. The answer fo a sublraction
calculation using two é-digit numbers is
130,509.

For one of the numbers, the fens
odd.

What could the calculation be?
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Sa. Use the numbers below fo fillin fhe
blanks so the calculations are correct.

5b. Use the numbers below to fillin the.
blanks so the calculations are comrect.
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4a. Trevor chooses a number between
200,000 and 300,000. He adds 104,709
‘and then sublracts 210,834, His answer is
108.429.

My starfing number
/ is 214554,

6b. Jazmin chooses a number between
200,000 and 300,000. She sublracts
123,468 and then adds 156,812. Her
answer is 274216,

My starfing number
s 230,872,

Is Trevor correct? Explain your answer.
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Is Jazmin correct? Explain your answer.
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7a. The answer fo an addifion calculation
using two é-digit numbersis one milion,
ninely-eight thousand, three hundred and
fifty-four.

One é-digit number has only even digits.

What could the calculation be?
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7b. The answer fo a subfraction
calculation using two 6-digit numbers is
seven hundred and twentyfour thousand,
four hundred and twenly-seven.

One b-digit number has only odd digits.

What could the calculation be?
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8a. Use the numbers below fo fillin fhe
blanks so the calculations are correct.

8b. Use the numbers below fo fillin the
blanks so the calculations are comrect.
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9. Darren chooses a number befween
130,000 and 140,000. He adds 785,933
and then sublracts 345,785, His answer is
five hundred and seventy-one thousand,
four hundred and thirt-fhree.

9b. Lily chooses a number between
400,000 and 410,000. She sublracts
130,982 and then adds 182,769. Her
answer s four hundred and sixty
thousand, one hundred and thirly-two.

My stariing number
s 408,345,

N
My starling number
s 132.285.

Is Damen comect? Explain your answer.
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Is Lily correct? Explain your answer.
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